3704 Algebraic Number
Theory Notes

Based on the 2012 spring lectures by Dr H
Wilton

The Author has made every effort to copy down all the content on the board during lectures. The
Author accepts no responsibility what so ever for mistakes on the notes or changes to the syllabus

for the current year. The Author highly recommends that reader attends all lectures, making his/her
own notes and to use this document as a reference only.
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INTERVOP R prove tnat za € L8

(b)Y = Ib)s pipz...pc £(0)

s00 % 1 €O o=k 70T

But cbf(gic . so 26 € Ox.

| £ P?: Cx IS _a maXunal Wleal drhon pflp.— Cy .

g
[
]
g
2

M®




|

D
1

(]

-

rY{e0Or S ExistOmneE )

Crcot . By aérunon of -t cplp B O
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Second evpraach . 222 = 6Conod 5) SQUONES _proAS
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